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Wilcox and the LC/PI Hypothesis
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Time Series of ln(Per Capita Retail Sales)
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Time Series of 1st Difference ln(Per Capita Retail Sales)
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* run regression to test for random walk w/out trend
reg d_ln_retail_sales ln_retail_sales_1

* run dickey fuller test w/out trend
dfuller ln_retail_sales

* run regression to test for random walk w/ trend
reg d_ln_retail_sales time ln_retail_sales_1

* run dickey fuller test w/ trend
dfuller ln_retail_sales, trend

8
MacKinnon approximate p-value for Z(t) = 0.3419
                                                                              
 Z(t)             -1.879            -3.460            -2.880            -2.570
                                                                              
               Statistic           Value             Value             Value
                  Test         1% Critical       5% Critical      10% Critical
                                          Interpolated Dickey-Fuller          

Dickey-Fuller test for unit root                   Number of obs   =       251

. dfuller ln_retail_sales

. * run dickey fuller test w/out trend

. 

                                                                              
       _cons     .1547736   .0820123     1.89   0.060    -.0067526    .3162998
ln_retail_~1    -.0255487   .0135949    -1.88   0.061    -.0523243    .0012269
                                                                              
d_ln_retai~s        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]
                                                                              

       Total    .043926806   250  .000175707           Root MSE      =  .01319
                                                       Adj R-squared =  0.0100
    Residual    .043312475   249  .000173946           R-squared     =  0.0140
       Model    .000614331     1  .000614331           Prob > F      =  0.0614
                                                       F(  1,   249) =    3.53
      Source         SS       df       MS              Number of obs =     251

. reg d_ln_retail_sales ln_retail_sales_1

. * run regression to test for random walk w/out trend

. 
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MacKinnon approximate p-value for Z(t) = 0.5146
                                                                              
 Z(t)             -2.156            -3.990            -3.430            -3.130
                                                                              
               Statistic           Value             Value             Value
                  Test         1% Critical       5% Critical      10% Critical
                                          Interpolated Dickey-Fuller          

Dickey-Fuller test for unit root                   Number of obs   =       251

. dfuller ln_retail_sales, trend

. * run dickey fuller test w/ trend

. 

                                                                              
       _cons     .2154282   .0994858     2.17   0.031     .0194834    .4113731
ln_retail_~1    -.0359228   .0166614    -2.16   0.032    -.0687386    -.003107
        time     .0000152   .0000141     1.08   0.283    -.0000126    .0000429
                                                                              
d_ln_retai~s        Coef.   Std. Err.      t    P>|t|     [95% Conf. Interval]
                                                                              

       Total    .043926806   250  .000175707           Root MSE      =  .01318
                                                       Adj R-squared =  0.0107
    Residual     .04311109   248  .000173835           R-squared     =  0.0186
       Model    .000815716     2  .000407858           Prob > F      =  0.0979
                                                       F(  2,   248) =    2.35
      Source         SS       df       MS              Number of obs =     251

. reg d_ln_retail_sales time ln_retail_sales_1

. * run regression to test for random walk w/ trend

. 
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